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6570kN, 1937kN, 1134kN, 4
2 1 *
(cm) (sec)| (cm) (cm2) (cm2) (cm) MPa) | (v/m) (m)
20 12 9 HDR. 3.84E+03 62 69 508 247E6+041 00116 1 0210
i LRB 4.68E+03 | 1.49E+02 70 7.7 4.06 1.18E+05] 0.0050 | 0.154
30 17 13 HDR. 2.60F+03 8] 39 751 3.79E+041 00154 10196
i LRB 2.94E+03 | 9.65E+01 55 4.2 6.45 5.12E+04] 0.0074 | 0.154
40 22 17 HDR 2.03F+03 45 26 985 2.33E+041 0019010187
' | RB 2256+03 1 7.50F+01 48 28 845 2.938E+041 00099 | 0154
x4
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1)
(cm) (sec) m m
HDR 0.141 0.165 0.858 0.993
2) LRB 0.121 0.143 0.804 )
20 12
HDR 0.133 0.150 0.790 0631
LRB 0.128 0.146 0.774 )
HDR 0.216 0.232 0.499 0.993
30 17 LRB 0.201 0.215 0.499
HDR 0.196 0.213 0.513 0631
1) 1996. LRB | 0195 | 0210 0.495 '
2) HDR 0.266 0.279 0.388 0.993
40 22 LRB 0.299 0.311 0.414
( ) 1992. HDR | 0257 | 0.267 0457 01
LRB 0.264 0.273 0.444
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